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1. You have to pay fees to apply for membership in the club, which offers you access to all the
club’s facilities.
(A) allowance (B) unique (C) annual (D) domestic
2. In an all-you-can-eat restaurant, you can enjoy seafood, steak, desserts, .
(A) instead of B)allin all (C) to name but few(D) in any way
3. In order to survive, Sherry had to several painful operations on her heart.
(A) endure (B) adjust (C) initiate (D) eclipse
4. The slaves couldn’t bear the anymore. They started to fight against the slave owners.
(A) abolition (B) confession (C) oppression (D) segregation
5. The attack carried out by the enemy was so that it caused many deaths and injured hundreds of
innocent people.
(A) vicious (B) casual (C) outrageous (D) chaotic
6. This novel is true ; many people even have similar experience in their lives.
(A) in life (B) in real (C) to life D) to real
7. This essay was a (an) on the government’s huge cuts in local public expenditure.
(A) anticipation (B) assault (C) plague (D) trauma
8. The president of the bank was accused of racial for colored employees.
(A) implication (B) assessment (C) character (D) harassment
9. The sweet couple promised each other that their shared memories would not be by time.
(A) diminished (B) annoyed (C) inflicted (D) taunted
10. Susan’s voice amazed the judges and made her a superstar overnight.
(A) keen (B) commercial ~ (C) distinctive (D) massive
11. Miyazaki has millions of people with his fantastic animations.
(A) tailored (B) entranced (C) exposed . (D) attempted
12. Though the two countries are at war, people in these countries still hope achieve a peaceful to the
conflict.
(A) resolution (B) exposure (C) complexity (D) tension
13. A fanatical prophet warned us of a that would occur by the end of the century.
(A) symptom (B) catastrophe  (C) ceremony (D) prejudice
14. John helps to record local news and information into audio format for blind and visually people.
(4A) influenced (B) spoiled (C) defeated (D) impaired
15. Over the past four years, the company has donated one million dollars to the organization.
(A) decisive (B) infamous (C) charitable (D) luxurious
16. The confused old man through the streets all afternoon, unsure of where he was.
(A) wandered (B) explored (C) fainted (D) escaped
17. The mayor publicly the outstanding service of the fire department in his speech.
(A) conguered (B) recognized (C) decorated (D) furnished
18. As more people rely on the Internet for information, it has newspapers as the most important
source of news.
(A) distributed (B) replaced (C) subtracted (D) suspected
19. Betty was to accept her friend’s suggestion because she thought she could come up with a
better idea herself. :
(A) reluctant (B) sensitive (C) tolerable (D) modest

20. After working in front of my computer for the entire day, my neck and shoulders got so
that I couldn’t even turn my head.

(A) concrete (B) dense (C) harsh (D) stiff
21. The kingdom began to after the death of its ruler, and was soon taken over by a neighboring

country.
(A) dismiss (B) collapse (C) rebel - (D) withdraw
22. Traveling is a good way for us to different cultures and broaden our horizons.

(A) occupy (B) assume (C) explore (D) inspire
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. If you want to know what your dreams mean, now there are websites you can visitto helpyou _____ them.
(A) interpret (B) perform (C) overcome (D) revise

. If you fly from Taipei to Tokyo, you’ll be taking an international, rather thana ____ flight.
(A) liberal (B) domestic (C) connected (D) universal

FEHEE (@1%, 13%)

depressed and without hope, the verbally abused run an increased risk of committing suicide.
(A) Leaving (B) To leave (C) Left (D) Had left
My brother never goes to the Internet café. Thus, the Internet café is place that my brother will go.
(A) the favor (B) the last (C) the final (D) the very
celebrities enjoy fortune and fame, they suffer great pressure from work.
(A) While {B) With (C) Despite (D) Since
To Mr. Wang, Taiwan’s components for computer products are superior to of Korea’s.
(A) this (B) these (C) that (D) those
In the library are a variety of books worth .
(A) to read (B) reading (C) to be read (D) being read
What if it ? Will we need to postpone our trip?
(A) will rain (B) rained (C) raining (D) rains
clear evidence and many witnesses, the thief had no choice but to confess the crime.
(A) Of (B) With (C) On ®O)In
You never tell your family which mountain you climb. you get lost in the mountains?
(A) When do (B) How about (C) Even if (D) What if
Whenever I see a horse. I think of my grandfather, farm I learned how to ride a horse.
(A) whose (B) and his (C) on whose (D) on his
as Johnny worked, he still didn’t pass the exam in the end.
(A) Hardly (B) Hard (C) As hardly (D) As hard
To my surprise, the lady had paid almost fifty times of her meal.
(A) more cost (B) cost (C) as much money (D) the cost
Not all the food eaten. A considerable amount of food is thrown away every day.
(A) lets (B) makes (C) gets (D) has
People can keep many disease if they live on a balanced diet and take constant exercise.
(A) in mind (B) at bay (C) with ease (D) at hand
- NEEER (@1%, 16%)

The Superhero Project was born a few years ago with the goal of providing inspiring photo shoots of
children facing big obstacles in their lives. The project was started by a professional photographer named
Renee Bergeron, who is also a _(38)_ mother of 14 kids. She offers her services _(39)_ of charge to families
who have children with special needs. Bergeron dresses the children up in superhero _(40)_ or other fun
clothing, including capes and fairy wings, for the pictures. She has taken pictures of kids with Down
syndrome and autism, and she has also worked with those who _(41)_ physical disabilities, such as cerebral
palsy. Parents who (42)_Bergeron's free services are grateful to see their kids being shown as heroes for
dealing with the problems and challenges they have had since birth.

Bergeron got her idea for the Superhero Project after Apollo, her youngest child, was born _(43)_ a heart
defect. His sérious condition meant little Apollo had to go _(44)_ many hospital trips that were unpleasant. As
a way of _(45)_ his spirits up, she decided to take photos of him looking like a superhero. To do this, she
looked for things around her house to dress her son up in. Bergeron found some goggles and rubber boots for
him to wear, and she made a cape for him by using a purple blanket. Proudly _(46)_ in the photos was the
feeding tube that Apollo got after surgery to repair his heart problem. Using some powerful poses for the
pictures, he was _(47)_ into Super Apollo. This transformation moved his mother so much that she decided to
empower other kids through the Superhero Project.

(A) free (B) transformed  (C) take advantage of (D) suffer from  (E) outfits

(AB) through (AC) with (AD) proud (AE) displayed (BC) lifting



B.

D’ Aluisio and Menzel also visited one family in the United States: the Revis in North Carolina. If we
compare the Aboubakars’ weekly diet with the Revis’, the mind will 48 __ the differences between the two.
In one week, the Revis’ food expenditure 49 $340. They enjoyed a variety of grains and starches. They
consumed milk, butter, several kinds of cheese, meat, fish, and all the fruits and vegetables they wanted. What’s
more, the money they spent on drinks, such as juice, soda, and so on, was $77.75, which is over three times the
amount of the total food budget of the Aboubakars.

In 2009, a study 50 _ by the United Nations Environment Programme mentioned that over half of the
world’s food was wasted. In Taiwan, food shortages may not seem more urgent than those in Haiti. However,
some people in Taiwan do not 51 _ their food. If they keep wasting food, they are likely to face food
shortages 52 . To prevent this from happening, some minor 53 ___can be made and, better yet, help to
improve the problem of food shortages around the world.

(A) adjustment (B) exceeded (C) sooner or later (D) carried out (E) boggle at
(AB) cherish

IV. TIRF (54-58 @2%, 59-63 @1%, 15%)

A.

Most people are very familiar with animations such as My Neighbor Totoro, Princess Mononoke, and
Howl’s Moving Castle. But do you know what inspired the gifted Japanese animator, Hayao Miyazaki, to create
these great films? The elements found in his films actually _ 54  his childhood experiences. His mother
contracted tuberculosis when he was six. Throughout his teenage years, his mother was under medication; as a
result, he hadto __S5  his two younger brothers. In order to entertain his brothers, he developed the ability to
draw pictures and make up stories with his fertile imagination. Such __56  is reflected in his works. Take
Chihiro, the main female character in Spirited Away, for example. The journey she experienced forces her to learn
to overcome obstacles and __ 57  her from a spoiled, whiny child into a responsible and strong girl. _ 58
Miyazaki’s childhood circumstances, he might not have been able to create this attractive animation. It is no
wonder that his films can always draw people of all ages around the world to the theater.

54. (A) are dated back to (B) are gone back to

(C) date back to (D) trace back to
55. (A) care for ' (B) live for (C) stand for (D) live on
56. (A) mutation (B) maturation (C) mutuality (D) maternity
57. (A)reforms (B) informs (C)conforms (D) transforms
58. (A) If it were not for (B) But for (C) With (D) But that
B.

Have you ever heard people around you saying something mean or rude to you? Did what they said end up
59 your heart? It is true that words can hurt people's feelings and most of us have encountered this horrible
situation at times. In fact, verbal abuse _ 60 _ different forms. In the workplace, it could be a boss telling _ 61
his employees for poor performance. In school, a student might be __ 62 by his or her classmates for being
different. Scientific research has shown that verbal abuse can greatly affect our lives and that improper or
offensive words can actually damage language ability as well as reduce people's sense. Be careful __63 the
words you use, because what is said can never be taken back.

59. (A) break (B) breaking (C) broken (D) to break
60. (A) comes (B) goes (C) takes (D) makes
61. (A) off B)to (C) with D) up

62. (A) taught (B) mocked ©C)led (D) kept
63.(A)in (B) for (C) with (D) of

V. BIRAER (@2%, 209%)
A.

What do Taipei 101 and the Empire State Building, a New York City landmark, have in common? If you
said, "Both are tall buildings," you are definitely on the right track. A better, more precise answer is that both
were once the tallest buildings in the world and they each hold an annual running event up a vertical course,

~ which is the latest trend in running. Those who take part annually in the Taipei 101 running event must
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conquer 2,046 steps from the ground floor to the 91st. It's an intimidating feat, but it regularly attracts about
2,000 people. Climbing the Empire State Building's 1,576 steps, which run a distance of 320 meters nearly
straight upwards, is also a difficult task. After all, the Empire State Building was the world's tallest skyscraper
for 42 years, a record that is unlikely to be matched, much less surpassed, in the future. The record for the run
up the building's stairs is just nine minutes and 33 seconds. In addition to the Empire State Building and
Taipei 101, vertical runs take place in other famous buildings and structures around the planet. These include
the CN Tower in Toronto, Canada, and the Willis Tower in the American city of Chicago.

To take part in this type of challenge, runners definitely need to be fleet of foot. While these events are
races, and the first one to the highest accessible point of the structures is the winner, vertical courses are more
a test of stamina than speed. It's not easy negotiating stairways and climbing up distances most people would
only dream of traveling in an elevator!

64. What would be a good title for this reading?
(A) Strange Habits of Modern People
(B) A Challenging Test of Stamina
(C) The Tallest Buildings in the World
(D) New York's Empire State Building

65. Which of the following is NOT true about the Empire State Building?

(A) It held the record as the tallest building for the longest time.
(B) It has more than 1,500 steps.

(C) It is no longer the tallest building in the world.

(D) It is taller than Taipei 101.

66. What record does the writer say is unlikely to be broken in the future?
(A) The fastest run up the Empire State Building,
(B) The tallest building in the world.
(C) The Empire State Building's record as the tallest in the world
(D) The number of people who take part in a single vertical run.

67. Buildings in each of the following countries were mentioned except which one?
(A) Canada (B) Taiwan. (C) France. (D) The United States.

68. In the second paragraph, what does "accessible" mean?
(A) Reachable. (B) Convenient. (C) Livable. (D) Comfortable

B. :
In 1885, Mark Twain’s novetl The Adventures of Huckleberry Finn was first published. It tells the story of a
rebellious teenager who travels down the Mississippi river on a raft with a runaway slave called Jim. The book
turned Twain into a household name and is now regarded as a typical American work of art. The great American
novelist Emest Hemingway remarked: “All modern American literature comes from one book by Mark Twain
called Huckleberry Finn.”

‘What made Huckleberry Finn unique among other American novels? One important factor is Twain’s
employment of American slang and idiom. Few American authors before Twain had used distinctly American
speech in their writing. Most of them imitated the elegant dialogue of English authors, for it was thought great
literature should not contain the coarse or vulgar language of common people. However, Twain wanted readers to
be able to identify with his characters and their manners of speaking. Huckleberry, the story’s narrator, is
uneducated and speaks ungrammatical English. When, for instance, he relates a tale of a woman teaching him
about the Bible, he says: “she learned me,” instead of “she taught me.” He also uses slang words like “ain’t” in
place of “am not,” “isn’t,” and “aren’t” a lot. Jim’s African-American dialect is also full of slang. Students today
can sometimes ﬁnd Jim’s dialogue difficult to grasp.

Another thing that gives the novel a specifically American flavor is the theme of freedom. Jim wants to
escape from his life as a slave and Huck tries to help him. At first, Huck is not sure whether he is doing the right
thing but when Jim becomes his friend, he is certain about it. It is clear that Twain meant to expose racist attitudes
and the injustice of slavery. The novel also deals with another kind of freedom, which is the freedom to roam.
Huck is free from society’s rules as he floats along the Mississippi, with no particular destination in mind.
America was a country built on the notion of a constantly expanding frontier, which allowed people to move
freely. This idea of freedom, as an open road, was to influence later American literary works.

Anmerican readers readily identified with both the language and themes in Huckleberry Finn. The speech of
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Twain’s characters was a realistic representation of the slang of the American South. Also, slavery and freedom of
movement were both relevant to Americans at the time and had a strong influence on Twentieth Century
American literature. For these reasons, Hemingway and others praised the book, calling it the first truly American
novel, a status that is surely deserved.
69. The passage is mainly about .
(A) Mark Twain (B) Hemingway
(C) Huckleberry Finn ' (D) American literature of the 20™ century
70. Mark Twain’s Huckleberry Finn is most famous for its
(A) use of local language of common people
(B) discussion on racial discrimination and segregation
(C) exploration of the American territory
(D) influences on the later American fighters calling for civil rights
71.Which of the following statements is NOT true about Huckleberry Finn?
(A) He was not a cultured child and spoke in a vulgar way.
(B) He was once wondering about helping a runaway slave boy.
(C) He traveled with Jim because both of them looked for freedom.
(D) He spoke difficult African-American slang and idiom with Jim.
72. The theme of the book Huckleberry Finn
(A) did not arouse the identification of people at that time .
(B) was set because Mark Twain hoped to escape from racial oppression
(C) reflected people’s eagerness to break the social obstacles of the 19 century
(D) inspired Dr. Martin Luther King, Jr. to deliver “I Have a Dream”
73. What can be inferred from the passage?
(A) Huck and Jim’s adventure is a kind of representation of American dream.
(B) Slavery was abolished because of the wide circulation of the book Huckleberry Finn.
(C) Mark Twain befriended Hemingway because of Huckleberry Finn.
(D) Elegant writing style was later devaluated in American literature circle.
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